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Time value of money
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Compound interest

Wednesday, March 18, 2020 12:31 PM

The (oavenkion s ihd*,mymw.fs plnwss cccur ot the
end /m period ( vop)

C.op | amouat owfd(j)
0 f f Z— you borrow BP af fhi oad o ey O
I P(]},‘) “~  }hen Sod owe $P ¥ 4 (FXi) al yhe Pn//yé'm" /
2 Plti)? & ik ancthi year gobs by oa owpn
} SQEDE PCari) v PO ¥ )>a 70
h PCI+d)" € caf) thy F
TGI“MS 7 ( (4-))’\ § ,C/'ng/é faympnl C’N"\pauna’ 0qa/‘;/‘/’
B (nhiyn " single paymeat presedl wortn {octor "

/

“
-

(i+i)~’

From ahe Yable  Fo f(14:)"

er PR (IH)T 2 FpT

Lecture 13 Completed Page 3



Cash Flows
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Net present value
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Annual Costs
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